

$$\begin{aligned} \overline{z} \overline{w} &= \overline{z} \overline{w} + \overline{z} \overline{w} \\ \overline{z} \overline{w} &= \overline{(z)_{z'} w} \end{aligned}$$

$$\overline{z} \overline{w} = \overline{z} \overline{w} + \overline{z} \overline{w}$$

$$\overline{z} \overline{w} = \overline{z} \overline{w} \Rightarrow \overline{(z)_{z'} w} + \overline{z} \overline{w} = \overline{(z)_{z'} w}$$

$$\Rightarrow \overline{z} \overline{w} + \overline{(z)_{z'} w} = \overline{(z)_{z'} w} = \overline{(z)_{z'} w} =$$

$$\overline{z} \overline{w} + \overline{(z)_{z'} w} = \overline{z} \overline{w} + \overline{(z)_{z'} w} + \overline{(z)_{z'} w} + \overline{(z)_{z'} w}$$